

① $\int x^2 \cos 5x \, dx = \boxed{\frac{1}{5} x^2 \sin 5x + \frac{2}{25} x \cos 5x - \frac{2}{125} \sin 5x + C}$ ←

$\frac{u}{x^2}$	$\frac{dv}{\cos 5x \, dx}$
$2x$	$\frac{1}{5} \sin 5x$
2	$-\frac{1}{25} \cos 5x$
0	$-\frac{1}{125} \sin 5x$

OR Let $u = x^2, \, dv = \cos 5x \, dx$
 $du = 2x \, dx, \, v = \frac{1}{5} \sin 5x$

$= \frac{1}{5} x^2 \sin 5x - \frac{2}{5} \int x \sin 5x \, dx$ Let $u = x, \, dv = \sin 5x \, dx$
 $du = dx, \, v = -\frac{1}{5} \cos 5x$
 $= \frac{1}{5} x^2 \sin 5x - \frac{2}{5} \left[-\frac{1}{5} x \cos 5x - \left(-\frac{1}{5}\right) \int \cos 5x \, dx \right]$
 $= \frac{1}{5} x^2 \sin 5x + \frac{2}{25} x \cos 5x - \frac{2}{25} \left(\frac{1}{5} \sin 5x \right) + C$
 $= \frac{1}{5} x^2 \sin 5x + \frac{2}{25} x \cos 5x - \frac{2}{125} \sin 5x + C$

② $\int_1^9 \frac{1}{x^3+2} \, dx \approx \frac{2}{3} \left[\frac{1}{1^3+2} + 4 \cdot \frac{1}{3^3+2} + 2 \cdot \frac{1}{5^3+2} + 4 \cdot \frac{1}{7^3+2} + \frac{1}{9^3+2} \right]$

(SIMPSON'S RULE WITH $n=4$: $\Delta x = \frac{9-1}{4} = 2$)

③ $\int \frac{2x^2 - 11x - 6}{x^3 - 2x^2} \, dx$ $\frac{2x^2 - 11x - 6}{x^2(x-2)} = \frac{A}{x} + \frac{B}{x^2} + \frac{C}{x-2}$
 $2x^2 - 11x - 6 = Ax(x-2) + B(x-2) + Cx^2$
 $x=0$: $-6 = -2B \quad B=3$
 $x=2$: $-20 = 4C \quad C=-5$
 x^2 coeff: $2 = A+C \quad A=7$

$\int \left(\frac{7}{x} + \frac{3}{x^2} - \frac{5}{x-2} \right) dx = \boxed{7 \ln|x| - \frac{3}{x} - 5 \ln|x-2| + C}$

④ $\int_1^3 x^2 \ln x \, dx$ Let $u = \ln x, \, dv = x^2 \, dx$
 $du = \frac{1}{x} \, dx, \, v = \frac{x^3}{3}$
 $= \left[\frac{x^3}{3} \ln x - \frac{1}{3} \int x^2 \, dx \right]_1^3 = \left[\frac{x^3}{3} \ln x - \frac{1}{9} x^3 \right]_1^3 = (9 \ln 3 - 3) - (0 - \frac{1}{9}) = \boxed{9 \ln 3 - \frac{26}{9}}$

⑤ $\int_4^{12} \frac{2x}{\sqrt{x(x+4)}} \, dx$ Let $u = \sqrt{x}, \, du = \frac{1}{2\sqrt{x}} \, dx$ If $x=4, \, u=2$
 $x=12, \, u = \sqrt{12} = 2\sqrt{3}$
 $= 24 \cdot \int_2^{2\sqrt{3}} \frac{1}{x+4} \cdot \frac{1}{\sqrt{x}} \, dx = 48 \int_2^{2\sqrt{3}} \frac{1}{u^2+4} \, du = 48 \left[\frac{1}{2} \tan^{-1} \frac{u}{2} \right]_2^{2\sqrt{3}} = 24 (\tan^{-1} \sqrt{3} - \tan^{-1} 1)$
 $= 24 \left(\frac{\pi}{3} - \frac{\pi}{4} \right) = \boxed{2\pi}$

⑥ $\int_1^\infty \frac{30x}{(x^2+2)^2} \, dx = \lim_{T \rightarrow \infty} \int_1^T \frac{30x}{(x^2+2)^2} \, dx$ Let $u = x^2+2, \, du = 2x \, dx$ If $x=1, \, u=3$
 $x=T, \, u=T^2+2$
 $= \lim_{T \rightarrow \infty} \frac{30}{2} \int_3^{T^2+2} \frac{1}{u^2} \cdot \frac{1}{2} \, du = \lim_{T \rightarrow \infty} 15 \int_3^{T^2+2} \frac{1}{u^2} \, du = \lim_{T \rightarrow \infty} 15 \left[-\frac{1}{u} \right]_3^{T^2+2}$
 $= \lim_{T \rightarrow \infty} 15 \left(-\frac{1}{T^2+2} - \left(-\frac{1}{3}\right) \right) = 15 \left(0 + \frac{1}{3} \right) = \boxed{5}$

7) a) $f(x) = \sqrt{x}$, $a = 100$

$f'(x) = \frac{1}{2} x^{-1/2}$

$f''(x) = -\frac{1}{4} x^{-3/2}$

$f'''(x) = \frac{3}{8} x^{-5/2}$

n	$f^{(n)}(a)$	$\frac{f^{(n)}(a)}{n!}$
0	10	10
1	$1/20$	$1/20$
2	$-1/4,000$	$-1/8,000$
3	$3/800,000$	$1/1,600,000$

$P_3(x) = 10 + \frac{1}{20}(x-100) - \frac{1}{8,000}(x-100)^2 + \frac{1}{1,600,000}(x-100)^3$

b) $\sqrt{102} \approx P_3(102) = 10 + \frac{1}{20}(2) - \frac{1}{8,000}(4) + \frac{1}{1,600,000}(8) = 10.099505$

(ACTUAL VALUE = 10.09950494...)

8) $\int x^3 e^{x^2} dx$ Let $\tau = x^2$, $d\tau = 2x dx$

$= \frac{1}{2} \int x^2 e^{x^2} \cdot 2x dx = \frac{1}{2} \int \tau e^\tau d\tau$ Let $u = \tau$, $dv = e^\tau d\tau$
 $du = d\tau$, $v = e^\tau$

$= \frac{1}{2} [\tau e^\tau - \int e^\tau d\tau] = \frac{1}{2} [\tau e^\tau - e^\tau] + C = \frac{1}{2} [x^2 e^{x^2} - e^{x^2}] + C$

OR Let $u = x^2$, $dv = x e^{x^2} dx$
 $du = 2x dx$, $v = \frac{1}{2} e^{x^2}$

To GET

$v = \int x e^{x^2} dx$ Let $\tau = x^2$, $d\tau = 2x dx$
 $= \frac{1}{2} \int e^{\tau} \cdot 2x dx = \frac{1}{2} \int e^\tau d\tau$
 $= \frac{1}{2} e^\tau + C = \frac{1}{2} e^{x^2}$ (TAKING C=0)

$\frac{1}{2} x^2 e^{x^2} - \int x e^{x^2} dx = \frac{1}{2} x^2 e^{x^2} - \frac{1}{2} e^{x^2} + C$

9) $\int \frac{x^2 + 16x + 18}{(x-1)(x^2+4)} dx$

$\frac{x^2 + 16x + 18}{(x-1)(x^2+4)} = \frac{A}{x-1} + \frac{Bx+C}{x^2+4}$

$x^2 + 16x + 18 = A(x^2+4) + (Bx+C)(x-1)$

$x=1$:
 $x=0$:
 x^2 coeff.

$35 = 5A$ $A = 7$
 $18 = 4A - C$ $C = 10$
 $1 = A + B$ $B = -6$

$\int \left(\frac{7}{x-1} + \frac{-6x+10}{x^2+4} \right) dx = 7 \int \frac{1}{x-1} dx - 3 \int \frac{2x}{x^2+4} dx + 10 \int \frac{1}{x^2+4} dx$

$= 7 \ln|x-1| - 3 \ln|x^2+4| + 10 \left(\frac{1}{2} \tan^{-1} \frac{x}{2} \right) + C$

$= 7 \ln|x-1| - 3 \ln(x^2+4) + 5 \tan^{-1} \frac{x}{2} + C$

10) $\int \frac{x^2}{(x^2+16)^2} dx$

Let $u = x$, $dv = \frac{x}{(x^2+16)^2} dx$
 $du = dx$, $v = \frac{1}{2} \left(-\frac{1}{x^2+16} \right)$

$v = \int \frac{x}{(x^2+16)^2} dx$ Let $\tau = x^2+16$
 $d\tau = 2x dx$

$= x \left(-\frac{1}{2(x^2+16)} \right) - \left(-\frac{1}{2} \right) \int \frac{1}{x^2+16} dx$

$= \frac{1}{2} \int \frac{1}{\tau} d\tau = \frac{1}{2} \left(-\frac{1}{\tau} \right) + C$
 $= \frac{1}{2} \left(-\frac{1}{x^2+16} \right)$ (if C=0)

$= -\frac{x}{2(x^2+16)} + \frac{1}{2} \left(\frac{1}{4} \tan^{-1} \frac{x}{4} \right) + C = -\frac{x}{2(x^2+16)} + \frac{1}{8} \tan^{-1} \frac{x}{4} + C$

REMARK We could also use $x = 4 \tan \theta$, so $dx = 4 \sec^2 \theta d\theta$ and $x^2+16 = 16 \sec^2 \theta$

$$(11) \frac{dy}{dt} = 2y + 3, \quad y(0) = 4$$

$$\int \frac{1}{2y+3} dy = \int dt, \quad \frac{1}{2} \int \frac{2}{2y+3} dy = t + C, \quad \frac{1}{2} \ln(2y+3) = t + C,$$

$$\ln(2y+3) = 2t + D, \quad 2y+3 = e^{2t+D} = e^D \cdot e^{2t} = Ae^{2t}, \quad 2y = Ae^{2t} - 3,$$

$$y = \frac{1}{2}(Ae^{2t} - 3) \quad \text{when } t=0, y=4: \quad 4 = \frac{1}{2}(A-3) \Rightarrow A-3=8, \quad A=11$$

$$\Rightarrow y = \frac{1}{2}(11e^{2t} - 3)$$

$$(12) 1) \frac{dy}{dt} - 2y = 3$$

$$2) u(t) = e^{\int -2dt} = e^{-2t}$$

$$3) e^{-2t} \left[\frac{dy}{dt} - 2y \right] = 3e^{-2t}, \quad (e^{-2t}y)' = 3e^{-2t}$$

$$4) e^{-2t}y = \int 3e^{-2t} dt = -\frac{3}{2}e^{-2t} + C \Rightarrow y = -\frac{3}{2} + Ce^{2t}$$

$$\text{when } t=0, y=4: \quad 4 = -\frac{3}{2} + C \Rightarrow C = \frac{11}{2}; \quad y = -\frac{3}{2} + \frac{11}{2}e^{2t}$$

$$(12) \int \frac{5x-7}{x^2-6x+34} dx = \frac{5}{2} \int \frac{2x-6}{x^2-6x+34} dx + \int \frac{8}{x^2-6x+34} dx$$

$$= \frac{5}{2} \ln|x^2-6x+34| + 8 \int \frac{1}{(x-3)^2+25} dx \quad \leftarrow \text{let } u=x-3, \quad du=dx$$

$$= \frac{5}{2} \ln|x^2-6x+34| + 8 \left(\frac{1}{5} \tan^{-1} \frac{u}{5} \right) + C$$

$$= \frac{5}{2} \ln(x^2-6x+34) + \frac{8}{5} \tan^{-1} \left(\frac{x-3}{5} \right) + C$$

(since $x^2-6x+34 > 0$ for all x , the absolute values are not needed.)

$$(12) \int \frac{5x-7}{x^2-6x+34} dx = \int \frac{5x-7}{(x-3)^2+25} dx \quad \text{let } u=x-3, \quad x=u+3, \quad dx=du$$

$$= \int \frac{5(u+3)-7}{u^2+25} du = \int \frac{5u+8}{u^2+25} du = \int \frac{5u}{u^2+25} du + \int \frac{8}{u^2+25} du$$

$$= \frac{5}{2} \int \frac{2u}{u^2+25} du + 8 \int \frac{1}{u^2+25} du$$

$$= \frac{5}{2} \ln(u^2+25) + 8 \left(\frac{1}{5} \tan^{-1} \frac{u}{5} \right) + C$$

$$= \frac{5}{2} \ln((x-3)^2+25) + \frac{8}{5} \tan^{-1} \left(\frac{x-3}{5} \right) + C$$

$$= \frac{5}{2} \ln(x^2-6x+34) + \frac{8}{5} \tan^{-1} \left(\frac{x-3}{5} \right) + C$$